6.RP.3.C Test 1B

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1. An 8-pack of candy bars costs $5.60. What is the cost per unit?

a. $.70 c. $5
b. $1 d. $4.48

2. During a 90% off sale, Mike paid $4 for a book. What was the original price of the book?
a. $9 c. $40
b. $36 d. $8

3. The soccer ball is $36 after being marked down 25%. What was the original price of the soccer
ball?
a. $12 c. $45
b. $27 d. $48

4.16 is % of 64
a. 50% c. 4%
b. 25% d. Ya%

5. Posters were 80% off. The sale price on one poster was $1. What was the original price?
a. $8 c. $5
b. $20 d. $2

6. 24 is 50% of what number?
a. 12 c. 480
b. 25 d. 48

7.10% of 10,000=
a. 10,000 c. 100
b. 1 d. 1,000

Completion

Complete each statement.

8. 50% of 90=

9.25% of 72 =




Answer 1:
Answer 2:
Answer 3:
Answer 4:
Answer 5:
Answer 6:
Answer 7:
Answer 8:
Answer 9:
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